
Economics 3250 Dr. Lozada
Spring 2014 Exam 2

This exam has 25 points. There are six questions on the
exam. Most of the questions are worth 4 points, but one is
worth 5 points.

Put your answers to the exam in a blue book or on blank
sheets of paper.

You have the entire class period (that is, until 1:10pm)
to take this test.

Figure 1 appears at the end of the exam.
Answer the questions using as much precision and detail

as the time allows. Correct answers which are unsupported
by explanations will not be awarded points.



Answer all of the following six questions.

1. [4 points] Draw a graph with “pollution abatement” on the
horizontal axis and $/“unit of abatement” on the vertical axis.
Draw a typical “marginal abatement cost” curve on your graph.

Suppose the government imposes a tax on pollution. Show on
your graph the total amount of tax (in dollars, not in dollars per
unit) paid by this firm.

Hint: Identify the “zero pollution” point on the horizontal axis.

2. [5 points] Using a numerical example, show that “command
and control” is Pareto-inferior to “cap and trade.” (“Cap and
trade” is also called “tradable permits.”)

3. [4 points] Locate the open-access equilibrium in Figure 1, ex-
plain why you located it where you did, and then explain why the
open-access equilibrium is inefficient.

4. [4 points] The following sentence appears in your textbook’s
chapter on Non-renewable Resources:

The basic rule for a renewable resource was:

Biological Rate of Growth+Growth in Capital Value = Discount Rate

What relevance does this have for non-renewable resources? What
does it imply about how the amount of a non-renewable resource
mined will change over time?

5. [4 points] In class, we discussed several ways in which private
firms might benefit from voluntarily adopting “green” technolo-
gies or policies. Describe two such ways.

6. [4 points] What is a “deposit-refund system” and why might it
be adopted?
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